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4. Ascampiiickor wlpol.
MEpm sa gabnxuans: Qycy nan wyrs — 12 moaa (=
€b 0K020 2 mpsera); %oas = 12 annin. 2.465 eyca — 1 e.q.
M3pa sa nospbxnocts: Jors = 1600 kBapp. kaae-
repn (= H7.50 @p. apa); Kaagmeps (pacrern) — 6 myxa.
Mbpm sa rerao: Henmneps — 100 eynra (=44 okmn1);

dynms — 32 aora; 0wy — 4 xeuntaa. 1 moan mentnepn
(vurTapekn: menTHeps) = 40 OKmI.
Monern cpb6puni: 2ya4ens (eioppas) =— 100 noswr

kpeinaph; 2 ryasesa = 200 B. kp.: '/, ryapens = 50 H. kp.
'/, = 25 u. wp. Mlaitige-munye (yarapuera) mo 10 u no 20
KpeHiapa.
3aarum: Munyp-sykamy =— 4°/, vryapena; kpona == 3
M. A. 3apH0 — 18 ryagena. MBanbi: 10 4 kpaimapsr, mo 1 u
uo '/, Kpaiuaps,
Baawckor nbpol.

Mbpbn 3a AaBKHHAR OTh crapel-Tet ¢ ynorph6asa
Koms (nakbTh) =— 3 naamsl; geanae (mepa) — 10 aepxnre;
Aeamums (upsers) = 10 aunin (= 0,1982 ors merpa). Muas
(@apconrs) —4000 creumens: (pacrerst). 3a NOBPbXHBOCTH:
woeons =— 46,1 apa epanuy. 3a muro: Koo = 20 Ganunb
(683,333 anrper, van = 400 oxs); Ganuya = 20 oxsi. 1
depo = 1283.474 rpamma. Tamn cmbraxx Bh TYpCKBI Tpo-
uese, napuuAnn ey (apBb); we orh 1867 rop. chksrs caom
cph6penx moners, napbuens Aey noy (nopnh abe). Ta e pasna
¢b | epanks n pgban ca na 100 Ganw now (nosst mapsr). Hossi-
et Mbarer mMonersr ¢x: mo 10. 5, 2 u 1 6ans Hoy (= 1 can-
1HMB). OTE CTapbi-TEl MOHETHI HARTH: TYPCKa-Ta KABTHOA ==
61°/,,rpoma; 6b.a0mepmnaie=12rp.; aBeTp. MEHIb-AYKATH ==
32 rp., upaunurs = 2'/, rp.; ryapens =6/, rp.; ors Pycoks:
py6ab==10"/, rp. n 1. . chpasmbpHo M0 TALR WHAX H APYTBI-Th1,

Ipoyrer nbpol.

MbEpw sa pammunx: Hosvul wuxs (merpn) = 10
naamMsl; Baama = 10 npserie; apscws = 10 anniu. 100 nosn
== 108 craps: nuxose. 1 nosa cwagia (keraomerps) — 1000
unxa = 5.4293 crapm crapin. 3a nospsxnocru: Hoso carpe-
Ma = 10 apa @p. = 1000 Onuxa = 0,7874 crapo crpema.
3a KHTO: e HO60 Kbl.io (xexkroantps) = 100 antpa=3,0157
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